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Mean Power Consumpion by Day of Week and Building Type
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device = torch.device(
print(f"ct | e: {device}")

HE=2 AI?.*% *HI’HQ =

2. 8 =2 o &
1. LSTM & MA

if torch.cuda.is_available() else ‘cpu’

model = LSTM(input_size, hidden_size, num_layers, output_size).to(device)

nn.MSELoss ()

mizer = torch.optim.Adam(model.parameters(), lr=learning rate

For epoch in ran

labels = labels.

outputs = model(

ge(num_epochs):
for i, (inputs, labels) i
inputs = inputs.to(device)

rate(train_loader):

unsqueeze(1).to(device)

inputs)

loss = criterion(outputs, labels)

optimizer.zero_grad()
loss.backward()
optimizer.step()

if (i+1l) % 300 == 0:

print ('E

h [

-LSTM 28 M7

.format(epoch+1, num epochs i+1, 1en(tra1n loader), loss.item()))
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